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used throughout the paper.
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1. (& State whether tlte foltowing statements are true or false (any ﬁee) : ' .5
mﬁﬁmﬂmm%mm(@ém) |

)] Predtcate term is distributed in I proposition.
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(i) In E proposition bqth subject and pret_iicate téms are undi§tribufed: -
Enmﬁﬁwmﬁﬁuwaﬁm%ﬁ% !
(ii) A syllogism a}wa_ys has_ a conclusi‘on.. :
w g e T e dm g
(iv) EIO is a valid moo& in ‘ﬁgure I | |
T Ii’l EIO 39 A ¥ 1
(v) AandE propoéitiygns have existentiﬁl import.
A 3 E Thal ® TOTE dRed e R 1 - :
(vi) “Since’ is arpremise indicator.l'
(vii) Contraposition o‘f O proposition is valid.
O THA W uﬁuﬁaﬁa g ¥ |
(viif) ‘All songs arermelodioﬁs".and ‘Some éongs are melodioué’ are contraries.
‘nﬁnﬁngw@ﬁ%’ aﬂi‘@ﬂﬁﬁﬂtﬂ%%‘éﬁaﬁmqﬁ



(3) 5233
. ‘(b) Fill in thé blanks (anyﬁve) :. : ‘ | | | : o 5
o i W O A (R W)
(i)_ Logic is the scic‘ncel of ........ o ereerernenrenans
(i) CALS s P 1s .......... of %ﬁo,s_is P’ |
| fggﬂ 5 .q.%.v’ ‘FE o g 1:{ 7@ %s - ..... S . % : ..
(iii) .T.he crererebereasagae s » of an argument is tth p_ropositidn— that is affirmed on .the' '
basis of other propositions in the at_'gumé_nt. | - |
m gﬁﬁw vt aroas a_&, mﬁq ) %m ﬁ[’t‘:TF{ a9
m%aﬂwmm_m% |
(v) The logical form of "bniy citizens can vote’ 18 weoreeeiermesemeneen S .
‘Ead :IFTﬁﬁ_chZ L m %1 & m ‘{a'q ...... % {
') J— ................... occurs when the subject .and'predicale térms' éf the pfoposition,

are interchanged.
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Answer briefly (any ten) 20 N

() What is a syllogism ?

iy =mgfm = ¥ 7

. !

'('iI) What do you understand by ‘Immediate Inference’ ? J

- oEfed SR’ ¥ e w owmen € 2
"(#iy  What is quality of a proposition ? o ' L\
3

TRIR ® T ézmw'maﬁ g ?
(v) What is Figure ?
| STFA W SUH T oA ¥ 2

(v)  Explain contrary relation in Traditional Square of Opposition.
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(vi) 'Why is contraposition of E proposi.tic‘m not. possible ?
E W@ @ whfedt & gva ad ¢
V(vn) Construct an argument that commits the fallacy of four terms.
qumﬁmﬁmﬁmmﬁma
(viiz) State the obverse of “Some females are teachers”. B
"% el st ¥ W sk A

(ix) Give an example of a syllogism Which involves the fallacy of illicit minor,

-mwmmmﬂmwmmmm

g
(x)  Explain the felationshjp between contradictory propositions.
TR § S G # smem Fifm
(x7} In square of -opposition if 1 proposition is true then wha't will be the truth value

of A, E and O ?
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(xii) State any one special rule of the syllogistic argument of third figure.
Wﬁﬂﬁﬁﬁﬁ%ﬁﬂm@m%ﬁ@fa@mﬁmaﬁ'
a1
(;iii) Reduce the following int.o their logical form :
frffen % s TR AT
(a) Politici_ans are never honest.
BERITE m‘sﬁ Rl {ameR T AR
(b) Few men are greedy

?ﬂ@ﬁﬂi&lm'@ﬁ%
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(xiv) ‘All players are vegetarians’ and ‘Some vegetarians- are players’ : Are these two '

propositions equivalent ?

ot faerd T W ¥ o ‘we wERd @ fead W ¥
A w T § 2 | | |
2. Answer any fhree questions : | | ) . 15
ol A T B T AR
@) Ts All valid in figure I 2

F Al 999 a@hﬁ.éu%‘?

(i " What does Mood signify in a categorical sylldgism ?

A H st w1 w2
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(i) Exp]ain ‘Distribution of Terms’.
R g
~ (iv) Universal propositions are existentially negative ‘whereas pafticuigr propositions are
existentially pQSitive. Discuss. | A
| TR T e frdr=m wifs | |
(v) Explain when A proposition-is false why E an<;l I remain undiétributed.

Amﬁaa&mﬁmw%?ﬁﬁﬁmmaﬁaﬁﬁaﬁ%
T 7 =rem wifw |

Reduce the following categorical syllogism into standard form and give its Mood, Figure, and '

also icientify the fallacy (any one) : _ . 6

ﬁmfa@aamgﬁaaﬁmmmﬁwﬁaaﬁﬁqrmaﬂmqa
mm@mmmm

{0 S_ome reformer_s are fanatics, so some idealists are faﬁati‘cs, since all f;afoﬁners are .
\ idealists. o
T G W E o G SR s w3 § e @l
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(it}  Some philosophers are mathematicians; hence some scientists are philosophers, since » _; «

em - .

scientists are mathematicians. ' - e

En:,?ia'rsfﬁanﬁma & aﬁ:@éamaﬁﬁa?%,aﬁﬁ.mﬁ aarfs

4. Test the validity/invalidity of any two of the following syllogisms : - 4

ﬁmﬁrﬁaawmgﬁaﬁ@ﬁ%a?aﬁéwmﬁw%rﬁm_ﬁq :

) EAO——I_

© (i) AIA—II L~

(m) 100—1I11. o | | _ . i
Section B k
caws ‘) o

5. Ildentify and explain the informal fallacies committed in the following passages (any five) : 10
Frefafan T § s a@dm Sy ot wen Wt (3K o) ;o
. .v . I;.
() ‘Do as I say otherwise I will complain to your father.’
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‘If [ am not telling the truth 'then I must be lying*

‘Hﬁ’ﬂwq'eﬁaﬁa a}ﬁ?@iﬁamgr”

‘Amitabh Bachchan recommends this brand of pen, hence. everybody s_houl& buy

~ these pens. ’

aﬁmﬁwmm%ﬂq%mmﬁméﬁ%:m o

T W i

‘A spoonful of this medicine cured a light cold that T had last month Half a cupful, .

- therefore ought to rid me of this severe one.’

.'-."-wwﬁmmﬁﬁﬂmaﬁmﬁm@ﬁwmwm
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aqa maﬂmwgﬁwéwmﬁruﬁﬁmﬁm

Whenever I wear thls Shll‘t I get to meet one of my old fnends It is lucky for me.’

wﬁﬁ%mwgﬁﬁgﬁmﬂﬁimwmﬁﬁ%l"
agwaﬁ%ﬁaqgw%

‘1 know there are ghosts ! There must be : no one. can prove that they don’t emst
aﬁw%%%ﬁéﬁ% I g @, mﬁmmmﬁfe@aﬁ
e
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6.  Write short notes on the following (ahy wo) . .

o (z) _‘F_a__\lsve'cap._sé"" ‘_ e
(i) 'Fal'llacy.f qf 'acci’den_t :
: (iii) - Complex Question.
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